

**AN INERTIAL EXTRAGRADIENT METHOD FOR FINDING
MINIMUM-NORM SOLUTIONS OF QUASIMONOTONE VARIATIONAL
INEQUALITIES**

by Mihai Postolache¹, Hoang Thi Thanh Tam², Nguyen Thi An³ and Luong Van Long⁴

In this work, we propose a new self-adaptive extragradient projection method for solving variational inequalities with Lipschitz continuous and quasimonotone mapping in a real Hilbert space. Using the technique of inertial step into a single projection method, we obtained strong convergence theorem for the proposed algorithm. Our results extend and improve the existing results in the literature.

Keywords: Quasimonotone variational inequality; quasimonotone mapping; Lipschitz continuity; inertial technique; strong convergence.

MSC2020: 47H09, 47H10, 47J20, 47J25.

1. Introduction

The paper deals with a new numerical approach for finding a solution of the quasimonotone variational inequality problem (VI) [16, 17] in a real Hilbert space H .

Let C be a nonempty closed and convex subset in H and $F: H \rightarrow H$ be an operator. Recall that the problem (VI) for the operator F on C is stated as follows:

$$\text{Find } x^* \in C \text{ such that } \langle Fx^*, y - x^* \rangle \geq 0 \text{ for all } y \in C. \quad (1)$$

The solution set of the problem (VI) is denoted by S .

The dual variational inequality problem of (1) is to find a point $x^* \in C$ such that

$$\langle Fx, x - x^* \rangle \geq 0 \quad \forall x \in C. \quad (2)$$

We denote the solution set of dual variational inequality problem (2) by S_D . It is obvious that S_D is a closed convex set (possibly empty). In the case F is continuous and C is convex, we get

$$S_D \subset S.$$

If F is a pseudomonotone and continuous mapping, then $S = S_D$ (see, Lemma 2.1 in [12]). The inclusion $S \subset S_D$ is false, if F is a quasimonotone and continuous mapping (see, Example 4.2 in [38]).

¹ Gheorghe Mihoc - Caius Iacob Institute of Mathematical Statistics and Applied Mathematics, Romanian Academy, 050711 Bucharest, Romania & Department of Mathematics and Informatics, National University of Science and Technology POLITEHNICA Bucharest, 060042 Bucharest, Romania, e-mail: mihai.postolache@upb.ro

² Faculty of Mathematical Economics, National Economics University, Hanoi City, Vietnam, e-mail: tamht@neu.edu.vn

³ Fundamental Sciences Faculty, National Economics University, Hanoi City, Vietnam, e-mail: annt@neu.edu.vn

⁴ Faculty of Mathematical Economics, National Economics University, Hanoi City, Vietnam, e-mail: longlv@neu.edu.vn

Variational inequality theory is an important tool in economics, engineering mechanics, mathematical programming, transportation and others (see, [1, 4, 5, 7, 14, 24, 25, 26]). Over the past decade, many numerical methods have been introduced for solving variational inequalities and related optimization problems, see [9, 10, 11, 13, 15, 18, 28, 30, 36].

The simplest one for solving VI (1) is the following gradient projection method:

$$\begin{cases} v_0 \in C, \\ v_{n+1} = P_C(v_n - \tau F v_n), \end{cases}$$

where P_C denotes the metric projection of H onto the set C and τ is a positive real number. The main restriction of gradient projection methods is that the operators require to be Lipschitz continuous and strongly monotone (or inverse strongly monotone). The extragradient method which introduced by Korpelevich [27] and Antipin [3] overcomes this disadvantage by performing an additional projection at each iteration in the following way:

$$\begin{cases} v_0 \in C, \\ u_n = P_C(v_n - \tau F v_n), \\ v_{n+1} = P_C(v_n - \tau F u_n), \end{cases} \quad (3)$$

where $F: C \rightarrow C$ is monotone and L -Lipschitz continuous, $\tau \in (0, \frac{1}{L})$. Recently, the extragradient method has given conclusive results assuming monotone and the Lipschitz continuous mappings (see, e.g., [9, 13, 32]). It is well known that to implement the extragradient method, one needs to calculate two projections onto C in each iteration. In [9] Censor et al. proposed the modified extragradient method which is called the subgradient extragradient method. In their method, they replaced the second projection onto C with a projection onto a half-space. However, in the subgradient extragradient method, it requires the cost mapping F to be defined on the whole H . This is a barrier if the mapping F is only Lipschitz continuous on C .

In recent years, the class of pseudomonotone mappings has been studied for solving the problem VI [8, 20, 35, 37]. In particular, when the mapping associated with variational inequality is pseudomonotone and sequentially weakly continuity, the extragradient method is introduced for solving variational inequalities in real Hilbert spaces [32].

Recently, some authors have investigated some weak convergence results of the extragradient methods when the assumption on F is quasimonotone (or non-monotone), which is weaker than the pseudomonotonicity assumption [2, 21, 22, 29, 33, 34, 38]. This is of interest because of the fact that the convergence analysis when F is pseudomonotone cannot be carried over to the case when F is quasimonotone. For instance, when F is quasimonotone, the dual variational inequality of problem (2) is not equivalent to problem (1). In [38], Ye and He proposed a double projection method and proved that it converges to a solution of problem (1) when F is only required to be continuous in a finite-dimensional space. Similar results are obtained by Izuchukwu et al. [21, 22], Alakoya et al. [2], Wang et al. [33, 34]. Recently, Liu et al. [29] proved that the forward-backward-forward method converges weakly to a solution of (1) when F is quasimonotone, Lipschitz continuous and sequentially weakly continuous in an infinite dimensional Hilbert space.

At the best knowledge of the authors, the study of the strong convergence of the extragradient method (3) for solving quasimonotone variational inequalities in the setting of Hilbert space is still unexplored. This leads us to the following question.

Question: *Can we give strong convergence results of the extragradient method (3) with the inertial technique for solving quasimonotone variational inequalities?*

Our aim in this paper is to answer the above question. We propose a new extragradient method with an inertial step and self-adaptive step sizes for solving the problem (1), with the following contributions: We introduce a novel extragradient method and obtain a strong convergence result when F is quasimonotone and Lipschitz continuous. Unlike the other projections, our proposed algorithm requires the cost mapping F to be calculated only on the closed convex set C in each iteration, rather than on the entire H , and utilizes self-adaptive step sizes to approximate a solution to the quasimonotone variational inequality problem.

This paper is organized as follows: In Sect. 2, we recall some definitions and preliminary results for further use. Sect. 3 deals with analyzing the convergence of the proposed algorithms. we prove strong convergence results under the conditions that F is Lipschitz continuous and quasi-monotone on H and the solution set S_D is nonempty.

2. Preliminaries

Let H be a real Hilbert space and C be a nonempty closed convex subset of H . The weak convergence of $\{x_n\}_{n=1}^\infty$ to x is denoted by $x_n \rightharpoonup x$ as $n \rightarrow \infty$, while the strong convergence of $\{x_n\}_{n=1}^\infty$ to x is written as $x_n \rightarrow x$ as $n \rightarrow \infty$. For all $x, y \in H$, we have

$$\|x + y\|^2 \leq \|x\|^2 + 2\langle y, x + y \rangle. \quad (4)$$

For all $x \in H$, there exists a unique nearest point in C , denoted by $P_C x$, such that

$$\|x - P_C x\| \leq \|x - y\| \quad \forall y \in C.$$

P_C is called the *metric projection* of H onto C . It is known that P_C is nonexpansive.

Lemma 2.1 ([19]). *Let C be a nonempty closed convex subset of a real Hilbert space H . Given $x \in H$ and $z \in C$. Then we have*

$$z = P_C x \iff \langle x - z, z - y \rangle \geq 0 \quad \forall y \in C.$$

Lemma 2.2 ([6, 19]). *Let C be a closed convex subset in a real Hilbert space H and $x \in H$. Then we have the following:*

- (1) $\|P_C x - P_C y\|^2 \leq \langle P_C x - P_C y, x - y \rangle \quad \forall y \in H;$
- (2) $\|P_C x - y\|^2 \leq \|x - y\|^2 - \|x - P_C x\|^2 \quad \forall y \in C.$

Definition 2.1. Let $F: H \rightarrow H$ be a mapping. Then the mapping F is said to be:

- (1) *L -Lipschitz continuous* with $L > 0$ if

$$\|F x - F y\| \leq L \|x - y\| \quad \forall x, y \in H.$$

- (2) *monotone* if

$$\langle F x - F y, x - y \rangle \geq 0 \quad \forall x, y \in H.$$

- (3) *pseudomonotone* in the sense of Karamardian [23] if

$$\langle F x, y - x \rangle \geq 0 \implies \langle F y, y - x \rangle \geq 0 \quad \forall x, y \in H.$$

- (4) *quasimonotone*, if

$$\langle F x, y - x \rangle > 0 \implies \langle F y, y - x \rangle \geq 0 \quad \forall x, y \in H.$$

- (5) *δ -strongly pseudomonotone* if there exists a constant $\delta > 0$ such that

$$\langle F x, x - y \rangle \geq 0 \implies \langle F y, y - x \rangle \geq \delta \|x - y\|^2 \quad \forall x, y \in H.$$

- (6) *sequentially weakly continuous* if, for each sequence $\{x_n\}$ in H , $\{x_n\}$ converges weakly to a point $x \in H$ implies $\{F x_n\}$ converges weakly to $F x$.

It is easy to see that every implication (2) \implies (3) \implies (4) hold, but the converse is not true.

The following lemma gives a situation when S_D is nonempty.

Lemma 2.3 ([38]). *If either*

- (1) *F is pseudomonotone on C and $S \neq \emptyset$,*
- (2) *F is the gradient of G , where G is a differential quasiconvex function on an open set $K, C \subset K$ and attains its global minimum on C ,*
- (3) *F is quasi-monotone on C , $F \neq 0$ on C and C is bounded,*
- (4) *F is quasi-monotone on C , $F \neq 0$ on C and there exists a positive number r such that, for every $v \in C$ with $\|v\| \geq r$, there exists $y \in C$ such that $\|y\| \leq r$ and $\langle Fv, y - v \rangle \leq 0$,*
- (5) *F is quasimonotone on C and $S_N \neq \emptyset$, with $S_N := S \setminus S_T$, where $S_T := \{x^* \in C \mid \langle F(x^*), y - x^* \rangle = 0 \forall y \in C\}$.*
- (6) *F is quasi-monotone on C , $\text{int}C$ is nonempty and there exists $v^* \in S$ such that $Fv^* \neq 0$. Then, S_D is nonempty.*

Lemma 2.4 ([31]). *Let $\{a_n\}$ be a sequence of nonnegative real numbers, $\{\alpha_n\}$ be a sequence of real numbers in $(0, 1)$ with $\sum_{n=1}^{\infty} \alpha_n = \infty$ and $\{b_n\}$ be a sequence of real numbers. Assume that*

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n b_n, \quad \forall n \geq 1,$$

If $\limsup_{k \rightarrow \infty} b_{n_k} \leq 0$ hold for every subsequence $\{a_{n_k}\}$ of sequence $\{a_n\}$ which satisfyies $\liminf_{k \rightarrow \infty} (a_{n_k+1} - a_{n_k}) \geq 0$, then $\lim_{n \rightarrow \infty} a_n = 0$.

3. The Main Results

We now introduce our algorithm.

Algorithm 3.1.

Initialization: Given $\tau_1 > 0$, $0 < a \leq \lambda < \frac{1}{2}$, and $\{\alpha_n\}$, $\{\gamma_n\}$ are two nonnegative real numbers sequences such that $\sum_{n=1}^{\infty} \gamma_n < +\infty$. Let $x_0, x_1 \in H$ be arbitrary. We assume $\{\theta_n\} \subset (0, 1)$ is positive real numbers sequence that satisfies the following conditions:

$$\lim_{n \rightarrow \infty} (1 - \theta_n) = 0, \quad \sum_{n=1}^{\infty} (1 - \theta_n) = \infty.$$

Iterative Steps: Calculate x_{n+1} as follows:

Step 1. Given the current iterates x_{n-1} and x_n ($n \geq 1$), compute

$$\begin{aligned} w_n &= x_n + \alpha_n(x_n - x_{n-1}), \\ y_n &= P_C(w_n - \tau_n Fw_n). \end{aligned}$$

If $y_n = w_n$ then stop and w_n is a solution of problem (1). Otherwise, go to **Step 2**.

Step 2. Compute

$$x_{n+1} = (1 - \lambda)(\theta_n x_n) + \lambda P_C(w_n - \tau_n Fy_n),$$

update

$$\tau_{n+1} = \begin{cases} \min \left\{ \mu \frac{\|w_n - y_n\|}{\|Fw_n - Fy_n\|}, \tau_n + \gamma_n \right\} & \text{if } Fw_n \neq Fy_n, \\ \tau_n + \gamma_n & \text{otherwise.} \end{cases} \quad (5)$$

Set $n := n + 1$ and return to **Step 1**.

3.1. Strong convergence

In order to analyze the convergence of the proposed algorithm, we assume the following conditions:

Condition 3.1. $S_D \neq \emptyset$.

Condition 3.2. *The mapping $F: C \rightarrow C$ is L -Lipschitz continuous on H . However, the information of L is not necessary to be known.*

Condition 3.3. *The mapping F is sequentially weakly continuous on C , i.e., for each sequence $\{x_n\} \subset C$, $\{x_n\}$ converges weakly to x^* implies $\{Fx_n\}$ converges weakly to Fx^* .*

Condition 3.4. *The mapping F is quasimonotone on C .*

We need the following lemmas.

Lemma 3.1 ([29]). *Let $\{\tau_n\}$ be a sequence generated by (5). Then*

$$\lim_{n \rightarrow \infty} \tau_n = \tau \text{ with } \tau \in \left[\min \left\{ \tau_1, \frac{\mu}{L} \right\}, \tau_1 + \alpha^* \right],$$

where $\alpha^* = \sum_{n=1}^{\infty} \gamma_n$. Moreover, we also obtain

$$\|Fw_n - Fy_n\| \leq \frac{\mu}{\tau_{n+1}} \|w_n - y_n\|.$$

Lemma 3.2. *Assume that Conditions 3.1 - 3.4 hold. Let $\{w_n\}$ be a sequence generated by Algorithm 3.1. If there exists a subsequence $\{w_{n_k}\}$ convergent weakly to $z \in H$ and $\lim_{k \rightarrow \infty} \|w_{n_k} - y_{n_k}\| = 0$, then $z \in S_D$ or $Fz = 0$.*

Proof. First, we see that $\{w_{n_k}\} \rightharpoonup z$ and $\lim_{k \rightarrow \infty} \|w_{n_k} - y_{n_k}\| = 0$ this implies that $y_{n_k} \rightharpoonup z$ and since $y_n \in C$ we get $z \in C$.

Now, we divide the proof into two cases.

Case 1: If $\limsup_{k \rightarrow \infty} \|Fy_{n_k}\| = 0$, then we have

$$\lim_{k \rightarrow \infty} \|Fy_{n_k}\| = \liminf_{k \rightarrow \infty} \|Fy_{n_k}\| = 0.$$

Since y_{n_k} converges weakly to $z \in C$ and F satisfies Condition 3.3 we get

$$0 \leq \|Fz\| \leq \liminf_{k \rightarrow \infty} \|Fy_{n_k}\| = 0.$$

This implies that $Fz = 0$.

Case 2: If $\limsup_{k \rightarrow \infty} \|Fy_{n_k}\| > 0$. Without loss of generality, we take

$$\lim_{k \rightarrow \infty} \|Ay_{n_k}\| = M > 0.$$

It then follows that there exists a $K \in \mathbb{N}$ such that $\|Fy_{n_k}\| > \frac{M}{2}$ for all $k \geq K$. Since $y_{n_k} = P_C(w_{n_k} - \tau_{n_k} Fw_{n_k})$, we have

$$\langle w_{n_k} - \tau_{n_k} Fw_{n_k} - y_{n_k}, x - y_{n_k} \rangle \leq 0 \quad \forall x \in C,$$

or, equivalently,

$$\frac{1}{\tau_{n_k}} \langle w_{n_k} - y_{n_k}, x - y_{n_k} \rangle \leq \langle Fw_{n_k}, x - y_{n_k} \rangle \quad \forall x \in C.$$

Consequently, we have

$$\frac{1}{\tau_{n_k}} \langle w_{n_k} - y_{n_k}, x - y_{n_k} \rangle + \langle Fw_{n_k}, y_{n_k} - w_{n_k} \rangle \leq \langle Fw_{n_k}, x - w_{n_k} \rangle \quad \forall x \in C. \quad (6)$$

Since $\{w_{n_k}\}$ is weakly convergent, $\{w_{n_k}\}$ is bounded. Then, by the Lipschitz continuity of F , $\{Fw_{n_k}\}$ is bounded. As $\|w_{n_k} - y_{n_k}\| \rightarrow 0$, $\{y_{n_k}\}$ is also bounded and $\tau_{n_k} \geq \min\{\tau_1, \frac{\mu}{L}\}$. Passing (6) to the limit as $k \rightarrow \infty$, we get

$$\liminf_{k \rightarrow \infty} \langle Fw_{n_k}, x - w_{n_k} \rangle \geq 0 \quad \forall x \in C. \quad (7)$$

Moreover, we have

$$\begin{aligned} \langle Fy_{n_k}, x - y_{n_k} \rangle &= \langle Fy_{n_k} - Fw_{n_k}, x - w_{n_k} \rangle + \langle Fw_{n_k}, x - w_{n_k} \rangle \\ &\quad + \langle Fy_{n_k}, w_{n_k} - y_{n_k} \rangle. \end{aligned} \quad (8)$$

Since $\lim_{k \rightarrow \infty} \|w_{n_k} - y_{n_k}\| = 0$ and F is L -Lipschitz continuous on H , we get

$$\lim_{k \rightarrow \infty} \|Fw_{n_k} - Fy_{n_k}\| = 0$$

which, together with (7) and (8), implies that

$$\liminf_{k \rightarrow \infty} \langle Fy_{n_k}, x - y_{n_k} \rangle \geq 0. \quad (9)$$

- If $\limsup_{k \rightarrow \infty} \langle Fy_{n_k}, x - y_{n_k} \rangle > 0$, then there exists a subsequence $\{y_{n_{k_j}}\}$ such that $\lim_{j \rightarrow \infty} \langle Fy_{n_{k_j}}, x - y_{n_{k_j}} \rangle > 0$. Consequently, there exists $j_0 \in \mathbb{N}$ such that

$$\langle Fy_{n_{k_j}}, x - y_{n_{k_j}} \rangle > 0 \quad \forall j \geq j_0.$$

Letting $j \rightarrow \infty$, we have $z \in S_D$.

- If $\limsup_{k \rightarrow \infty} \langle Fy_{n_k}, x - y_{n_k} \rangle = 0$. From (9) implies that

$$\lim_{k \rightarrow \infty} \langle Fy_{n_k}, x - y_{n_k} \rangle = 0.$$

Let $\epsilon_k := |\langle Fy_{n_k}, x - y_{n_k} \rangle| + \frac{1}{k+1}$. Then we obtain

$$\langle Fy_{n_k}, x - y_{n_k} \rangle + \epsilon_k > 0 \quad \forall k \geq K. \quad (10)$$

Furthermore, for each $k \geq 1$, since $\{y_{n_k}\} \subset C$, we can suppose $Fy_{n_k} \neq 0$ (otherwise, y_{n_k} is a solution) and, setting

$$q_{n_k} = \frac{Fy_{n_k}}{\|Fy_{n_k}\|^2},$$

we have $\langle Fy_{n_k}, q_{n_k} \rangle = 1$ for each $k \geq K$. Now, we can deduce from (10) that, for each $k \geq K$,

$$\langle Fy_{n_k}, x + \epsilon_k q_{n_k} - y_{n_k} \rangle > 0.$$

Since F is quasimonotone on H , we get

$$\langle F(x + \epsilon_k q_{n_k}), x + \epsilon_k q_{n_k} - y_{n_k} \rangle \geq 0. \quad (11)$$

Now, for all $k \geq K$, using (11) we get

$$\begin{aligned} \langle Fx, x + \epsilon_k q_{n_k} - y_{n_k} \rangle &= \langle Fx - F(x + \epsilon_k q_{n_k}), x + \epsilon_k q_{n_k} - y_{n_k} \rangle \\ &\quad + \langle F(x + \epsilon_k q_{n_k}), x + \epsilon_k q_{n_k} - y_{n_k} \rangle \\ &\geq \langle Fx - F(x + \epsilon_k q_{n_k}), x + \epsilon_k q_{n_k} - y_{n_k} \rangle \\ &\geq -\|Fx - F(x + \epsilon_k q_{n_k})\| \|x + \epsilon_k q_{n_k} - y_{n_k}\| \\ &\geq -\epsilon_k L \|q_{n_k}\| \|x + \epsilon_k q_{n_k} - y_{n_k}\| \\ &= -\epsilon_k L \frac{1}{\|Fy_{n_k}\|} \|x + \epsilon_k q_{n_k} - y_{n_k}\| \\ &\geq -\epsilon_k L \frac{2}{M} \|x + \epsilon_k q_{n_k} - y_{n_k}\|. \end{aligned} \quad (12)$$

In (12), letting $k \rightarrow \infty$ and using the fact that $\lim_{k \rightarrow \infty} \epsilon_k = 0$ and the boundedness of $\{\|x + \epsilon_k q_{n_k} - y_{n_k}\|\}$ we get

$$\langle Fx, x - z \rangle \geq 0 \quad \forall x \in C.$$

This implies that $z \in S_D$. \square

Theorem 3.1. *Assume that Conditions 3.1 - 3.4 hold and $Fx \neq 0$, for all $x \in C$. Then, the sequence $\{x_n\}$ generated by Algorithm 3.1 converges strongly to an element $x^* \in S_D \subset S$, where $\|x^*\| = \min\{\|u\| : u \in S_D\}$ provided that*

$$\lim_{n \rightarrow +\infty} \frac{\alpha_n}{1 - \theta_n} \|x_n - x_{n-1}\| = 0. \quad (13)$$

Remark 3.1. Note that S_D is a closed and convex set, thus $\|x^*\| = \min\{\|u\| : u \in S_D\}$ implies that $x^* = P_{S_D}(0)$.

Proof. Let $z_n := P_C(w_n - \tau_n Fy_n)$.

Claim 1.

$$\|z_n - x^*\|^2 \leq \|w_n - x^*\|^2 - \left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2). \quad (14)$$

Indeed, since $x^* \in S_D \subset S \subset C$, we have

$$\begin{aligned} \|z_n - x^*\|^2 &= \|P_C(w_n - \tau_n Fy_n) - P_C x^*\|^2 \\ &\leq \langle z_n - x^*, w_n - \tau_n Fy_n - x^* \rangle \\ &= \frac{1}{2} \|z_n - x^*\|^2 + \frac{1}{2} \|w_n - \tau_n Fy_n - x^*\|^2 - \frac{1}{2} \|z_n - w_n + \tau_n Fy_n\|^2 \\ &= \frac{1}{2} \|z_n - x^*\|^2 + \frac{1}{2} \|w_n - x^*\|^2 + \frac{1}{2} \tau_n^2 \|Fy_n\|^2 - \langle w_n - x^*, \tau_n Fy_n \rangle \\ &\quad - \frac{1}{2} \|z_n - w_n\|^2 - \frac{1}{2} \tau_n^2 \|Fy_n\|^2 - \langle z_n - w_n, \tau_n Fy_n \rangle \\ &= \frac{1}{2} \|z_n - x^*\|^2 + \frac{1}{2} \|w_n - x^*\|^2 - \frac{1}{2} \|z_n - w_n\|^2 - \langle z_n - x^*, \tau_n Fy_n \rangle. \end{aligned}$$

This implies that

$$\|z_n - x^*\|^2 \leq \|w_n - x^*\|^2 - \|z_n - w_n\|^2 - 2\langle z_n - x^*, \tau_n Fy_n \rangle. \quad (15)$$

Since $x^* \in S_D$ and $y_n \in C$ we get

$$\langle Fy_n, x^* - y_n \rangle \leq 0.$$

Thus we have

$$\langle Fy_n, x^* - z_n \rangle = \langle Fy_n, x^* - y_n \rangle + \langle Fy_n, y_n - z_n \rangle \leq \langle Fy_n, y_n - z_n \rangle. \quad (16)$$

From (15) and (16), we obtain

$$\begin{aligned} \|z_n - x^*\|^2 &\leq \|w_n - x^*\|^2 - \|z_n - w_n\|^2 + 2\tau_n \langle Fy_n, y_n - z_n \rangle \\ &= \|w_n - x^*\|^2 - \|z_n - y_n\|^2 - \|y_n - w_n\|^2 - 2\langle z_n - y_n, y_n - w_n \rangle \\ &\quad + 2\tau_n \langle Fy_n, y_n - z_n \rangle \\ &= \|w_n - x^*\|^2 - \|z_n - y_n\|^2 - \|y_n - w_n\|^2 \\ &\quad + 2\langle w_n - \tau_n Fy_n - y_n, z_n - y_n \rangle. \end{aligned} \quad (17)$$

Using Lemma 2.1, it's easy to see that from $y_n = P_C(w_n - \tau_n Fw_n)$, and $z_n \in T_n$, we obtain

$$2\langle y_n + \tau_n Fw_n - w_n, y_n - z_n \rangle \leq 0.$$

This is equivalent to

$$2\langle w_n - \tau_n Fw_n - y_n, z_n - y_n \rangle \leq 0. \quad (18)$$

Using (18) we deduce

$$\begin{aligned} 2\langle w_n - \tau_n Fy_n - y_n, z_n - y_n \rangle &= 2\langle w_n - \tau_n Fw_n - y_n, z_n - y_n \rangle + 2\tau_n \langle Fw_n - Fy_n, z_n - y_n \rangle \\ &\leq 2\tau_n \langle Fw_n - Fy_n, z_n - y_n \rangle \\ &\leq \mu \frac{\tau_n}{\tau_{n+1}} \|w_n - y_n\|^2 + \mu \frac{\tau_n}{\tau_{n+1}} \|y_n - z_n\|^2. \end{aligned} \quad (19)$$

Substituting (19) into (17), we obtain

$$\begin{aligned} \|z_n - x^*\|^2 &\leq \|w_n - x^*\|^2 - \left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right) \|y_n - w_n\|^2 - \left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right) \|z_n - y_n\|^2 \\ &= \|w_n - x^*\|^2 - \left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right) (\|y_n - w_n\|^2 + \|z_n - y_n\|^2). \end{aligned}$$

From $\lim_{n \rightarrow \infty} \left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right) = 1 - \mu > 0$, it follows that there exists $n_0 \in \mathbb{N}$ such that

$$1 - \mu \frac{\tau_n}{\tau_{n+1}} > 0 \quad \forall n \geq n_0.$$

Thus, we have

$$\|z_n - x^*\| \leq \|w_n - x^*\| \quad \forall n \geq n_0.$$

Claim 2. The sequence $\{x_n\}$ is bounded. Indeed, by Claim 1 then there exists $n_0 \in \mathbb{N}$ such that

$$\|z_n - x^*\| \leq \|w_n - x^*\| \quad \forall n \geq n_0. \quad (20)$$

On the other hand, from the definition of w_n , we get

$$\begin{aligned} \|w_n - x^*\| &= \|x_n + \alpha_n(x_n - x_{n-1}) - x^*\| \\ &\leq \|x_n - x^*\| + \alpha_n \|x_n - x_{n-1}\| \\ &= \|x_n - x^*\| + (1 - \theta_n) \frac{\alpha_n}{1 - \theta_n} \|x_n - x_{n-1}\|. \end{aligned} \quad (21)$$

By the condition $\lim_{n \rightarrow +\infty} \frac{\alpha_n}{1 - \theta_n} \|x_n - x_{n-1}\| = 0$, it follows that there exists a constant $M_1 > 0$ such that

$$\frac{\alpha_n}{1 - \theta_n} \|x_n - x_{n-1}\| \leq M_1, \quad \forall n \geq 1. \quad (22)$$

Combining (20), (21) and (22), we obtain

$$\|z_n - x^*\| \leq \|w_n - x^*\| \leq \|x_n - x^*\| + (1 - \theta_n) M_1. \quad (23)$$

Now, from the definition of $\{x_n\}$, we get

$$\begin{aligned} \|x_{n+1} - x^*\| &= \|(1 - \lambda)(\theta_n x_n) + \lambda - x^*\| \\ &= \|(1 - \lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*) - (1 - \theta_n)(1 - \lambda)x^*\| \\ &\leq \|(1 - \lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\| + (1 - \theta_n)(1 - \lambda)\|x^*\|. \end{aligned} \quad (24)$$

Now, we estimate $\|(1 - \lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|$

$$\begin{aligned} &\|(1 - \lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 \\ &= (1 - \lambda)^2 \theta_n^2 \|x_n - x^*\|^2 + 2(1 - \lambda)\theta_n \lambda \langle x_n - x^*, z_n - x^* \rangle + \lambda^2 \|z_n - x^*\|^2 \\ &\leq (1 - \lambda)^2 \theta_n^2 \|x_n - x^*\|^2 + 2(1 - \lambda)\theta_n \lambda \|x_n - x^*\| \|z_n - x^*\| + \lambda^2 \|z_n - x^*\|^2 \\ &= [(1 - \lambda)\theta_n \|x_n - x^*\| + \lambda \|z_n - x^*\|]^2. \end{aligned}$$

Thus

$$\|(1 - \lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\| \leq (1 - \lambda)\theta_n \|x_n - x^*\| + \lambda \|z_n - x^*\|. \quad (25)$$

Combining (23) and (25), we deduce

$$\begin{aligned}
& \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\| \\
& \leq (1-\lambda)\theta_n\|x_n - x^*\| + \lambda\|x_n - x^*\| + (1-\theta_n)\lambda M_1 \\
& = (1-(1-\theta_n)(1-\lambda))\|x_n - x^*\| + (1-\theta_n)\lambda M_1 \\
& \leq (1-(1-\theta_n)(1-\lambda))\|x_n - x^*\| + (1-\theta_n)(1-\lambda)M_1 \\
& \quad (\text{by } 0 < a \leq \lambda \leq \frac{1}{2}).
\end{aligned} \tag{26}$$

Substituting (26) into (24), we get

$$\begin{aligned}
\|x_{n+1} - x^*\| & \leq (1-(1-\theta_n)(1-\lambda))\|x_n - x^*\| + (1-\theta_n)(1-\lambda)(\|x^*\| + M_1) \\
& \leq \max\{\|x_n - x^*\|, \|x^*\| + M_1\} \\
& \leq \dots \leq \max\{\|x_0 - x^*\|, \|x^*\| + M_1\}.
\end{aligned}$$

Therefore, the sequence $\{x_n\}$ is bounded. So, $\{z_n\}$ is also bounded.

Claim 3.

$$\begin{aligned}
\left(1 - \mu \frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2) & \leq \|x_n - x^*\|^2 - \|x_{n+1} - x^*\|^2 \\
& \quad + (1-\theta_n)[\lambda(1-(1-\lambda)(1-\theta_n))M_1 + (1-\lambda)A_{x^*}],
\end{aligned}$$

for some $A_{x^*} > 0$. Indeed, we have

$$\begin{aligned}
\|x_{n+1} - x^*\|^2 & = \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*) - (1-\theta_n)(1-\lambda)x^*\|^2 \\
& = \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 + (1-\theta_n)^2(1-\lambda)^2\|x^*\|^2 \\
& \quad - 2(1-\theta_n)(1-\lambda)\langle(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*), x^*\rangle \\
& \leq \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 + (1-\theta_n)(1-\lambda) \left[(1-\theta_n)(1-\lambda)\|x^*\| \right. \\
& \quad \left. + 2\langle(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*), x^*\rangle \right] \\
& \leq \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 + (1-\theta_n)(1-\lambda)A_{x^*}.
\end{aligned} \tag{27}$$

The last inequality obtains by the boundness of $\{x_n\}$, $\{z_n\}$, and $\{\theta_n\}$, implies there exists $A_{x^*} > 0$ such that

$$(1-\theta_n)(1-\lambda)\|x^*\| + 2\langle(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*), x^*\rangle \leq A_{x^*} \quad \forall n.$$

Now, we estimate $\|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2$. We have

$$\begin{aligned}
& \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 \\
& = (1-\lambda)^2\theta_n^2\|x_n - x^*\|^2 + 2(1-\lambda)\theta_n\lambda\langle x_n - x^*, z_n - x^* \rangle + \lambda^2\|z_n - x^*\|^2 \\
& \leq (1-\lambda)^2\theta_n^2\|x_n - x^*\|^2 + 2(1-\lambda)\theta_n\lambda\|x_n - x^*\|\|z_n - x^*\| + \lambda^2\|z_n - x^*\|^2 \\
& \leq (1-\lambda)^2\theta_n^2\|x_n - x^*\|^2 + (1-\lambda)\theta_n\lambda\|x_n - x^*\|^2 + (1-\lambda)\theta_n\lambda\|z_n - x^*\|^2 \\
& \quad + \lambda^2\|z_n - x^*\|^2 \\
& \leq (1-\lambda)\theta_n(1-(1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 + \lambda(1-(1-\lambda)(1-\theta_n))\|z_n - x^*\|^2.
\end{aligned} \tag{28}$$

Combining (14) and (28), we get

$$\begin{aligned}
& \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 \\
& \leq (1-\lambda)\theta_n(1 - (1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 + \lambda(1 - (1-\lambda)(1-\theta_n))\|w_n - x^*\|^2 \\
& \quad - \lambda(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2) \\
& \leq (1-\lambda)\theta_n(1 - (1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 + \lambda(1 - (1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 \\
& \quad + \lambda(1 - (1-\lambda)(1-\theta_n))(1-\theta_n)M_1 \\
& \quad - \lambda(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2) \\
& = (1 - (1-\lambda)(1-\theta_n))^2\|x_n - x^*\|^2 + \lambda(1 - (1-\lambda)(1-\theta_n))(1-\theta_n)M_1 \\
& \quad - \lambda(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2).
\end{aligned}$$

Substituting (28) into (27), we get

$$\begin{aligned}
\|x_{n+1} - x^*\|^2 & \leq (1 - (1-\lambda)(1-\theta_n))^2\|x_n - x^*\|^2 \\
& \quad + (1-\theta_n)(\lambda(1 - (1-\lambda)(1-\theta_n))M_1 + (1-\lambda)A_{x^*}) \\
& \quad - \lambda(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2) \\
& \leq \|x_n - x^*\|^2 \text{ (by } (1 - (1-\lambda)(1-\theta_n))^2 \leq 1 \text{ and } \lambda \geq a) \\
& \quad + (1-\theta_n)[\lambda(1 - (1-\lambda)(1-\theta_n))M_1 + (1-\lambda)A_{x^*}] \\
& \quad - a(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2).
\end{aligned}$$

This implies that

$$\begin{aligned}
a(1 - (1-\lambda)(1-\theta_n))\left(1 - \mu\frac{\tau_n}{\tau_{n+1}}\right)(\|y_n - w_n\|^2 + \|z_n - y_n\|^2) \\
\leq \|x_n - x^*\|^2 - \|x_{n+1} - x^*\|^2 \\
+ (1-\theta_n)[\lambda(1 - (1-\lambda)(1-\theta_n))M_1 + (1-\lambda)A_{x^*}].
\end{aligned}$$

Claim 4.

$$\begin{aligned}
\|x_{n+1} - x^*\|^2 & \leq (1 - (1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 \\
& \quad + (1-\lambda)(1-\theta_n)\left[\frac{\alpha_n}{1-\theta_n}\|(x_n - x_{n-1})\|(1 - (1-\lambda)(1-\theta_n))\frac{\lambda M_3}{1-\lambda} + 2\langle x^*, x_{n+1} - x^* \rangle\right],
\end{aligned}$$

for some $M_3 > 0$. Indeed, using the inequality (4) and (28) we have

$$\begin{aligned}
\|x_{n+1} - x^*\|^2 & = \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*) - (1-\theta_n)(1-\lambda)x^*\|^2 \\
& \leq \|(1-\lambda)\theta_n(x_n - x^*) + \lambda(z_n - x^*)\|^2 + 2(1-\theta_n)(1-\lambda)\langle x^*, x_{n+1} - x^* \rangle \\
& \leq (1-\lambda)\theta_n(1 - (1-\lambda)(1-\theta_n))\|x_n - x^*\|^2 \\
& \quad + \lambda(1 - (1-\lambda)(1-\theta_n))\|w_n - x^*\|^2 + 2(1-\theta_n)(1-\lambda)\langle x^*, x_{n+1} - x^* \rangle. \tag{29}
\end{aligned}$$

On the other hand, by the definition of $\{w_n\}$, we have

$$\begin{aligned}
 \|w_n - x^*\|^2 &= \|x_n - x^* + \alpha_n(x_n - x_{n-1})\|^2 \\
 &= \|x_n - x^*\|^2 + \alpha_n^2\|x_n - x_{n-1}\|^2 + 2\alpha_n\langle x_n - x^*, x_n - x_{n-1} \rangle \\
 &\leq \|x_n - x^*\|^2 + \alpha_n^2\|x_n - x_{n-1}\|^2 + 2\alpha_n\|x_n - x^*\|\|x_n - x_{n-1}\| \\
 &\leq \|x_n - x^*\|^2 + \alpha_n\|x_n - x_{n-1}\|(\|\alpha_n\|x_n - x_{n-1}\| + 2\|x_n - x^*\|) \\
 &\leq \|x_n - x^*\|^2 + \alpha_n\|x_n - x_{n-1}\|M_3,
 \end{aligned} \tag{30}$$

for some $M_3 > 0$.

Substituting (30) into (29) we deduce

$$\begin{aligned}
 \|x_{n+1} - x^*\|^2 &\leq (1 - \lambda)\theta_n(1 - (1 - \lambda)(1 - \theta_n))\|x_n - x^*\|^2 \\
 &\quad + \lambda(1 - (1 - \lambda)(1 - \theta_n))\|x_n - x^*\|^2 \\
 &\quad + \lambda(1 - (1 - \lambda)(1 - \theta_n))\alpha_n\|x_n - x_{n-1}\|M_3, + 2(1 - \theta_n)(1 - \lambda)\langle x^*, x_{n+1} - x^* \rangle \\
 &= (1 - (1 - \lambda)(1 - \theta_n))^2\|x_n - x^*\|^2 \\
 &\quad + (1 - \lambda)(1 - \theta_n)\left[\frac{\alpha_n}{1 - \theta_n}\|x_n - x_{n-1}\|(1 - (1 - \lambda)(1 - \theta_n))\frac{\lambda M_3}{1 - \lambda} + 2\langle x^*, x_{n+1} - x^* \rangle\right] \\
 &\leq (1 - (1 - \lambda)(1 - \theta_n))\|x_n - x^*\|^2 \\
 &\quad + (1 - \lambda)(1 - \theta_n)\left[\frac{\alpha_n}{1 - \theta_n}\|x_n - x_{n-1}\|(1 - (1 - \lambda)(1 - \theta_n))\frac{\lambda M_3}{1 - \lambda} + 2\langle x^*, x_{n+1} - x^* \rangle\right].
 \end{aligned}$$

Claim 5. $\{\|x_n - x^*\|^2\}$ converges to zero. Indeed, by Lemma 2.4 it suffices to show that $\limsup_{k \rightarrow \infty} \langle x^*, x_{n_k+1} - x^* \rangle \leq 0$ for every subsequence $\{\|x_{n_k} - x^*\|\}$ of $\{\|x_n - x^*\|\}$ satisfying

$$\liminf_{k \rightarrow \infty} (\|x_{n_k+1} - x^*\| - \|x_{n_k} - x^*\|) \geq 0.$$

For this, suppose that $\{\|x_{n_k} - x^*\|\}$ is a subsequence of $\{\|x_n - x^*\|\}$ such that $\liminf_{k \rightarrow \infty} (\|x_{n_k+1} - x^*\| - \|x_{n_k} - x^*\|) \geq 0$. Then

$$\begin{aligned}
 \liminf_{k \rightarrow \infty} (\|x_{n_k+1} - x^*\|^2 - \|x_{n_k} - x^*\|^2) \\
 = \liminf_{k \rightarrow \infty} [(\|x_{n_k+1} - x^*\| - \|x_{n_k} - x^*\|)(\|x_{n_k+1} - x^*\| + \|x_{n_k} - x^*\|)] \geq 0.
 \end{aligned}$$

By Claim 3 we obtain

$$\begin{aligned}
 &\limsup_{k \rightarrow \infty} (1 - \theta_{n_k})\left(1 - \mu\frac{\tau_{n_k}}{\tau_{n_k+1}}\right)(\|y_{n_k} - w_{n_k}\|^2 + \|z_{n_k} - y_{n_k}\|^2) \\
 &\leq \limsup_{k \rightarrow \infty} [\|x_{n_k} - x^*\|^2 - \|x_{n_k+1} - x^*\|^2 \\
 &\quad + (1 - \theta_{n_k})[\lambda(1 - (1 - \lambda)(1 - \theta_{n_k}))A_1 + (1 - \lambda)A_{x^*}]] \\
 &\leq \limsup_{k \rightarrow \infty} [\|x_{n_k} - x^*\|^2 - \|x_{n_k+1} - x^*\|^2] \\
 &\quad + \limsup_{k \rightarrow \infty} (1 - \theta_{n_k})[\lambda(1 - (1 - \lambda)(1 - \theta_{n_k}))M_1 + (1 - \lambda)A_{x^*}] \\
 &= -\liminf_{k \rightarrow \infty} [\|x_{n_k+1} - x^*\|^2 - \|x_{n_k} - x^*\|^2] \leq 0.
 \end{aligned}$$

This implies that

$$\lim_{k \rightarrow \infty} (\|y_{n_k} - w_{n_k}\|^2 + \|z_{n_k} - y_{n_k}\|^2) = 0. \tag{31}$$

It follows from (31) that

$$\lim_{k \rightarrow \infty} \|y_{n_k} - w_{n_k}\| = 0 \quad \text{and} \quad \lim_{k \rightarrow \infty} \|z_{n_k} - y_{n_k}\| = 0. \tag{32}$$

Now, we show that

$$\|x_{n_k+1} - x_{n_k}\| \rightarrow 0 \text{ as } n \rightarrow \infty. \quad (33)$$

Indeed, from (31), it follows that

$$\|z_{n_k} - w_{n_k}\| \leq \|z_{n_k} - y_{n_k}\| + \|y_{n_k} - w_{n_k}\| \rightarrow 0. \quad (34)$$

and

$$\|x_{n_k} - w_{n_k}\| = \alpha_{n_k} \|x_{n_k} - x_{n_k-1}\| = (1 - \theta_{n_k}) \frac{\alpha_{n_k}}{1 - \theta_{n_k}} \|x_{n_k} - x_{n_k-1}\| \rightarrow 0. \quad (35)$$

Combining (34) and (35), we deduce

$$\lim_{k \rightarrow +\infty} \|z_{n_k} - x_{n_k}\| = 0.$$

Therefore, we have

$$\begin{aligned} \|x_{n_k+1} - x_{n_k}\| &= \|(1 - \lambda)\theta_{n_k}x_{n_k} + \lambda z_{n_k} - x_{n_k}\| \\ &= \|\lambda(z_{n_k} - x_{n_k}) - (1 - \theta_{n_k})(1 - \lambda)x_{n_k}\| \\ &\leq \lambda\|z_{n_k} - x_{n_k}\| + (1 - \theta_{n_k})(1 - \lambda)\|x_{n_k}\| \rightarrow 0. \end{aligned}$$

Since the sequence $\{x_{n_k}\}$ is bounded, without any loss of generality we may assume that $\{s_{n_k}\}$ converges weakly to some $z \in H$, such that

$$\limsup_{k \rightarrow \infty} \langle x^*, x_{n_k} - x^* \rangle = \langle x^*, z - x^* \rangle. \quad (36)$$

From (35) we get

$$w_{n_k} \rightharpoonup z,$$

this together with (32), using Lemma 3.2 and assumption $Fx \neq 0 \forall x \in C$ we obtain $z \in S_D$ and, from (36) and the definition of $x^* = P_{S_D}(0)$, we have

$$\limsup_{k \rightarrow \infty} \langle x^*, x_{n_k} - x^* \rangle = \langle x^*, z - x^* \rangle \leq 0. \quad (37)$$

Combining (33) and (37), we have

$$\begin{aligned} \limsup_{k \rightarrow \infty} \langle x^*, x_{n_k+1} - x^* \rangle &\leq \limsup_{k \rightarrow \infty} \langle x^*, x_{n_k} - x^* \rangle \\ &= \langle x^*, z - x^* \rangle \\ &\leq 0. \end{aligned} \quad (38)$$

Hence, by (38), $\lim_{n \rightarrow \infty} \frac{\alpha_n}{1 - \theta_n} \|x_n - x_{n-1}\| = 0$. Apply Lemma 2.4 to Claim 4, we obtain $\lim_{n \rightarrow \infty} \|x_n - x^*\| = 0$. That is the desired result. \square

Remark 3.2. 1. We can choose the sequence $\{\alpha_n\}$ that satisfies condition (13) as follows:

$$\alpha_n = \begin{cases} \min \left\{ \alpha, \frac{\epsilon_n}{\|x_n - x_{n-1}\|} \right\} & \text{if } x_n \neq x_{n-1}, \\ \alpha & \text{otherwise,} \end{cases}$$

where $\alpha > 0$ and $\{\epsilon_n\}$ is a positive sequence such that $\epsilon_n = 0(1 - \theta_n)$. This means that $\lim_{n \rightarrow \infty} \frac{\epsilon_n}{1 - \theta_n} = 0$.

2. The parameter $\{\theta_n\}$ satisfies Algorithm 3.1 as follows: $\theta_n = 1 - \frac{1}{(n+1)^p}$, $0 < p \leq 1$.

Then, it is easy to see that $\lim_{n \rightarrow +\infty} (1 - \theta_n) = 0$ and $\sum_{n=1}^{\infty} (1 - \theta_n) = +\infty$.

4. Conclusions

In this paper, we investigate a new version of the inertial extragradient algorithm for finding a solution of the variational inequality problem in Hilbert spaces where the operator is assumed to be Lipschitz continuous and quasimonotone. The strong convergence theorem of the proposed algorithm is presented under assumptions of the quasimonotonicity and the Lipschitz continuity of the variational inequality mapping.

REFERENCES

- [1] Abaidoo, R., Agyapong, E.K.: Financial development and institutional quality among emerging economies. *J. Econ. Dev.* **24**, 198-216 (2022)
- [2] Alakoya, T.O., Mewomo, O.T., Shehu, Y.: Strong convergence results for quasimonotone variational inequalities. *Math. Meth. Oper. Res.* **95**, 249-279 (2022)
- [3] Antipin, A.S.: On a method for convex programs using a symmetrical modification of the Lagrange function. *Ekonomika i Matematicheskie Metody*. **12**, 1164-1173 (1976)
- [4] Aubin, J.P., Ekeland, I.: *Applied Nonlinear Analysis*. Wiley, New York, 1984
- [5] Baiocchi, C., Capelo, A.: *Variational and Quasivariational Inequalities; Applications to Free Boundary Problems*. Wiley, New York, 1984
- [6] H.H. Bauschke, P.L. Combettes, *Convex analysis and monotone operator theory in hilbert spaces*, Springer, New York, 2011.
- [7] Bot, R.I., Csetnek, E.R., Vuong, P.T.: The forward-backward-forward method from discrete and continuous perspective for pseudo-monotone variational inequalities in Hilbert spaces. *European J. Oper. Res.* **287**, 49-60 (2020)
- [8] Ceng L.C., Teboulle M., Yao J.C.: Weak convergence of an iterative method for pseudomonotone variational inequalities and fixed-point problems. *J. Optim. Theory Appl.* **146**, 19-31 (2010)
- [9] Censor, Y., Gibali, A., Reich, S.: The subgradient extragradient method for solving variational inequalities in Hilbert space. *J. Optim. Theory Appl.* **148**, 318-335 (2011)
- [10] Censor, Y., Gibali, A., Reich, S.: Strong convergence of subgradient extragradient methods for the variational inequality problem in Hilbert space. *Optim. Meth. Softw.* **26**, 827-845 (2011)
- [11] Censor, Y., Gibali, A., Reich, S.: Extensions of Korpelevich's extragradient method for the variational inequality problem in Euclidean space. *Optimization*. **61**, 1119-1132 (2012)
- [12] Cottle, R.W., Yao, J.C.: Pseudo-monotone complementarity problems in Hilbert space. *J. Optim. Theory Appl.* **75**, 281-295 (1992)
- [13] Denisov, S.V., Semenov, V.V., Chabak, L.M.: Convergence of the modified extragradient method for variational inequalities with non-Lipschitz operators. *Cybern. Syst. Anal.* **51**, 757-765 (2015)
- [14] Facchinei, F., Pang, J.S.: *Finite-Dimensional Variational Inequalities and Complementarity Problems. Volume I*. Springer Series in Operations Research, Springer, New York, 2003
- [15] Dong, Q.L., Lu, Y.Y., Yang, J.F.: The extragradient algorithm with inertial effects for solving the variational inequality. *Optimization*. **65**, 2217-2226 (2016)
- [16] Fichera, G.: Sul problema elastostatico di Signorini con ambigue condizioni al contorno. *Atti Accad. Naz. Lincei, VIII. Ser., Rend., Cl. Sci. Fis. Mat. Nat.* **34**, 138-142 (1963)
- [17] Fichera, G.: Problemi elastostatici con vincoli unilaterali: il problema di Signorini con ambigue condizioni al contorno. *Atti Accad. Naz. Lincei, Mem., Cl. Sci. Fis. Mat. Nat., Sez. I, VIII. Ser.* **7**, 91-140 (1964)
- [18] Gibali, A., Reich, S., Zalas, R.: Outer approximation methods for solving variational inequalities in Hilbert space. *Optimization*. **66**, 417-437 (2017)
- [19] Goebel, K., Reich, S.: *Uniform Convexity, Hyperbolic Geometry, and Nonexpansive Mappings*: Marcel Dekker, New York; 1984
- [20] Hu, X., Wang, J.: Solving pseudo-monotone variational inequalities and pseudo-convex optimization problems using the projection neural network. *IEEE Trans. Neural Netw.* **17**, 1487-1499 (2006)
- [21] Izuchukwu, C., Shehu, Y., Yao, J.C.: A simple projection method for solving quasimonotone variational inequality problems. *Optim. Eng.* **24**, 915-938 (2023)
- [22] Izuchukwu, C., Shehu, Y., Yao, J.C.: New inertial forward-backward type for variational inequalities with Quasi-monotonicity. *J. Glob. Optim.* **84**, 441-464 (2022)
- [23] Karamardian, S., Schaible, S.: Seven kinds of monotone maps. *J. Optim. Theory Appl.* **66**, 37-46 (1990)
- [24] Kinderlehrer, D., Stampacchia, G.: *An Introduction to Variational Inequalities and Their Applications*. Academic Press, New York, 1980

[25] Kraikaew, R., Saejung, S.: Strong convergence of the Halpern subgradient extragradient method for solving variational inequalities in Hilbert spaces. *J. Optim. Theory Appl.* **163**, 399-412 (2014)

[26] Konnov, I.V.: Combined Relaxation Methods for Variational Inequalities. Springer-Verlag, Berlin, 2001

[27] Korpelevich, G.M.: The extragradient method for finding saddle points and other problems. *Ekonomika Matematicheskie Metody* **12**, 747-756 (1976)

[28] Malitsky, Y.V.: Projected reflected gradient methods for monotone variational inequalities. *SIAM J. Optim.* **25**, 502-520 (2015)

[29] Liu, H., Yang, J.: Weak convergence of iterative methods for solving quasimonotone variational inequalities. *Comput. Optim. Appl.* **77**, 491-508 (2020)

[30] Shehu, Y., Dong, Q.L., Jiang, D.: Single projection method for pseudo-monotone variational inequality in Hilbert spaces. *Optimization* **68**, 385-409 (2019)

[31] Saejung, S., Yotkaew, P.: Approximation of zeros of inverse strongly monotone operators in Banach spaces. *Nonlinear Anal.* **75**, 742-750 (2012)

[32] Vuong, P.T.: On the weak convergence of the extragradient method for solving pseudo-monotone variational inequalities. *J. Optim. Theory Appl.* **176**, 399-409 (2018)

[33] Wang, K., Wang, Y., Iyiola, O.S., Shehu, Y.: Double inertial projection method for variational inequalities with quasi-monotonicity. *Optimization* **73**, 707-739 (2024)

[34] Wang, Zb., Chen, X., Yi, J. et al.: Inertial projection and contraction algorithms with larger step sizes for solving quasimonotone variational inequalities. *J. Glob. Optim.* **82**, 499-522 (2022)

[35] Yao, Y., Postolache, M: Iterative methods for pseudomonotone variational inequalities and fixed point problems. *J. Optim. Theory Appl.* **155**, 273-287 (2012)

[36] Yang, J., Liu, H.: A modified projected gradient method for monotone variational inequalities. *J. Optim. Theory Appl.* **179**, 197-211 (2018)

[37] Yao, Y., Iyiola, O.S., Shehu, Y.: Subgradient extragradient method with double inertial steps for variational inequalities. *J. Sci. Comput.* **90**, 71 (2022). <https://doi.org/10.1007/s10915-021-01751-1>

[38] Ye M., He, Y.: A double projection method for solving variational inequalities without monotonicity. *Comput. Optim. Appl.* **60**, 141-150 (2015)